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Advent Pieces

Today's piece uses Kropki clues. White circles 
mark every pair of consecutive digits (e.g. 1 & 2, 
5 & 6). Black circles mark every pair where one 
digit is 2x the other (e.g. 1 & 2, 4 & 8). All 
possible clues in this square are given. If 1 & 2 
are adjacent, they may have either clue type.

Solve today's Advent Calendar 
square using sudoku logic!

Hints: What rows already have a 
1? What row still needs a 1? 
What column still needs a 1?

Bonus Puzzle

Today's bonus puzzle is a 
maze. Help me get to the 
delicious taco.

By the way, I'm trying to 
eat one of every taco in 
Fort Worth, Texas. If you 
want to see my progress 
and misadventures, go to 
http://allthetacos.com


